
MATHS

BOOKS - MAXIMUM PUBLICATION

SETS

Example

1. Write the following sets in roster form. 

Watch Video Solution

B = {x : x ∈ N, x ≤ 6}

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FVH8bW2bQUTy


2. Write the following sets in roster form. 

 is a vowel in english alphabet}

Watch Video Solution

C = {x : x

3. Write the following sets in roster form. 

 is a two digit natural number such

that the sum of its digits is 8}

Watch Video Solution

D = {x : x

https://dl.doubtnut.com/l/_FVH8bW2bQUTy
https://dl.doubtnut.com/l/_k9fFbA0lDIjF
https://dl.doubtnut.com/l/_23vw3sbpoE0x
https://dl.doubtnut.com/l/_NEpUkzutTnsa


4. Write the following sets in roster form. 

Watch Video Solution

E = {x : x ∈ Z, − < x < }
1

2

9

2

5. Write the following sets in Set builder form. 

Watch Video Solution

A = {3, 6, 9, 12}

6. Write the following sets in Set builder form. 

B = {2, 4, 8, 16, 32}

https://dl.doubtnut.com/l/_NEpUkzutTnsa
https://dl.doubtnut.com/l/_oU0xn6ylWTYM
https://dl.doubtnut.com/l/_wJkWMgFDiUhH


Watch Video Solution

7. Write the following sets in Set builder form. 

Watch Video Solution

C = { , , , , , }
1

2

2

3

3

4

4

5

5

6

6

7

8. Write the following sets in Set builder form. 

Watch Video Solution

D = {5, 25, 125, 625}

https://dl.doubtnut.com/l/_wJkWMgFDiUhH
https://dl.doubtnut.com/l/_Jxr9yex9ow4M
https://dl.doubtnut.com/l/_H4tTRG2QhNAU
https://dl.doubtnut.com/l/_e9wvh6acQP4x


9. Write the following sets in Set builder form. 

Watch Video Solution

E = {2, 4, 6, …. . }

10. Write the following in interval form. 

Watch Video Solution

{x : x ∈ R, − 4 < x ≤ 6}

11. Write the following in interval form. 

{x : x ∈ R, 0 ≤ x < 7}

https://dl.doubtnut.com/l/_e9wvh6acQP4x
https://dl.doubtnut.com/l/_k40lS5Dlkj9z
https://dl.doubtnut.com/l/_8EtvOrR9EdRq


Watch Video Solution

12. Write the following in interval form. 

Watch Video Solution

{x : x ∈ R, 3 ≤ x ≤ 4}

13. Write the following in set builder form. 

Watch Video Solution

[0, 10]

https://dl.doubtnut.com/l/_8EtvOrR9EdRq
https://dl.doubtnut.com/l/_6z0RNiuwA6rK
https://dl.doubtnut.com/l/_RHnDPay6YHkr
https://dl.doubtnut.com/l/_Xk1iTh8qZQ6m


14. Write the following in set builder form. 

Watch Video Solution

[ − 2, 7]

15. Write the following in set builder form. 

Watch Video Solution

[3, 4]

https://dl.doubtnut.com/l/_Xk1iTh8qZQ6m
https://dl.doubtnut.com/l/_DVfe2oRbMLB6


16. Find set A,B and Universal set U. 

Watch Video Solution

17. Write all subset of the following. 

Watch Video Solution

{1, 2}

https://dl.doubtnut.com/l/_yPXgABKXpTQp
https://dl.doubtnut.com/l/_0z0yogbTKvzn


18. Write all subset of the following. 

Watch Video Solution

{a, b, c}

19. Write all subset of the following. 

Watch Video Solution

∅

https://dl.doubtnut.com/l/_0z0yogbTKvzn
https://dl.doubtnut.com/l/_GvzvEM91UQ2Z
https://dl.doubtnut.com/l/_ldBwOB3WZbRA


20. Let , which of the

following statements are true/false and why? 

Watch Video Solution

A = {1, 2, {3, 4}, s, d, θ}

3 ∈ A

21. Let , which of the

following statements are true/false and why? 

Watch Video Solution

A = {1, 2, {3, 4}, s, d, θ}

{1, {3, 4}} ∈ A

https://dl.doubtnut.com/l/_JMygTd8mnsbt
https://dl.doubtnut.com/l/_qgzk5hvECen1
https://dl.doubtnut.com/l/_kAgkH2P9Le0E


22. Let , which of the

following statements are true/false and why? 

Watch Video Solution

A = {1, 2, {3, 4}, s, d, θ}

{1, 2, 3} ⊂ A

23. Let , which of the

following statements are true/false and why? 

Watch Video Solution

A = {1, 2, {3, 4}, s, d, θ}

∅ ∈ A

https://dl.doubtnut.com/l/_kAgkH2P9Le0E
https://dl.doubtnut.com/l/_gwOb9Fa76Nnt


24. Let , which of the

following statements are true/false and why? 

Watch Video Solution

A = {1, 2, {3, 4}, s, d, θ}

1 ⊂ A

25. If , 

and .Find 


Watch Video Solution

A = {1, 2, 4, 6, 7, 8} B = {2, 5, 7, 9, 10}

C = {4, 5, 9, 10}

A⋃B

https://dl.doubtnut.com/l/_yNqajdSDTNdv
https://dl.doubtnut.com/l/_otiWz9eFJXob
https://dl.doubtnut.com/l/_6JA8YsurJ0ej


26. If , 

and .Find 


Watch Video Solution

A = {1, 2, 4, 6, 7, 8} B = {2, 5, 7, 9, 10}

C = {4, 5, 9, 10}

B⋃C

27. If , 

and .Find 


Watch Video Solution

A = {1, 2, 4, 6, 7, 8} B = {2, 5, 7, 9, 10}

C = {4, 5, 9, 10}

A ∪ C

https://dl.doubtnut.com/l/_6JA8YsurJ0ej
https://dl.doubtnut.com/l/_CYxzZQMJTSMm


28. If , 

and .Find 


Watch Video Solution

A = {1, 2, 4, 6, 7, 8} B = {2, 5, 7, 9, 10}

C = {4, 5, 9, 10}

A ∩ B

29. If , 

and .Find 


Watch Video Solution

A = {1, 2, 4, 6, 7, 8} B = {2, 5, 7, 9, 10}

C = {4, 5, 9, 10}

B ∩ C

https://dl.doubtnut.com/l/_cjkXcQk1YGiJ
https://dl.doubtnut.com/l/_9CVMXAf3VxFb
https://dl.doubtnut.com/l/_lgKrZ2MP64hn


30. If , 

and .Find 


Watch Video Solution

A = {1, 2, 4, 6, 7, 8} B = {2, 5, 7, 9, 10}

C = {4, 5, 9, 10}

A ∪ B ∪ C

31. If , 

and .Find 


Watch Video Solution

A = {1, 2, 4, 6, 7, 8} B = {2, 5, 7, 9, 10}

C = {4, 5, 9, 10}

A ∩ B ∩ C

https://dl.doubtnut.com/l/_lgKrZ2MP64hn
https://dl.doubtnut.com/l/_OvUveaulykjV


32. If , 

and .Find 


Watch Video Solution

A = {1, 2, 4, 6, 7, 8} B = {2, 5, 7, 9, 10}

C = {4, 5, 9, 10}

(A ∩ B) ∪ (C ∩ A)

33. If , 

and . Find 


Watch Video Solution

A = {2, 4, 6, 7, 8, 12} B = {2, 7, 9, 10}

C = {5, 9, 10, 12}

A − B

https://dl.doubtnut.com/l/_8XQW97zULzo8
https://dl.doubtnut.com/l/_CPjhPSgFbeaa
https://dl.doubtnut.com/l/_jibgSjNFUFVW


34. If , 

and . Find 


Watch Video Solution

A = {2, 4, 6, 7, 8, 12} B = {2, 7, 9, 10}

C = {5, 9, 10, 12}

B − C

35. If , 

and . Find 


Watch Video Solution

A = {2, 4, 6, 7, 8, 12} B = {2, 7, 9, 10}

C = {5, 9, 10, 12}

A − C

https://dl.doubtnut.com/l/_jibgSjNFUFVW
https://dl.doubtnut.com/l/_LhKVb1R8xCJn


36. If , 

and . Find 


Watch Video Solution

A = {2, 4, 6, 7, 8, 12} B = {2, 7, 9, 10}

C = {5, 9, 10, 12}

B − A

37. If , 

and . Find 


Watch Video Solution

A = {2, 4, 6, 7, 8, 12} B = {2, 7, 9, 10}

C = {5, 9, 10, 12}

C − A

https://dl.doubtnut.com/l/_7aFnUHGWcadY
https://dl.doubtnut.com/l/_H7vOd5dkw8rp
https://dl.doubtnut.com/l/_wNF7uwar7SN8


38. If , 

and . Find 


Watch Video Solution

A = {2, 4, 6, 7, 8, 12} B = {2, 7, 9, 10}

C = {5, 9, 10, 12}

(A ∪ B) − C

39. If , 

and . Find 


Watch Video Solution

A = {2, 4, 6, 7, 8, 12} B = {2, 7, 9, 10}

C = {5, 9, 10, 12}

A − (B ∩ C)

https://dl.doubtnut.com/l/_wNF7uwar7SN8
https://dl.doubtnut.com/l/_UHBCSoyLbrtA


40. If , 

and . Find 


Watch Video Solution

A = {2, 4, 6, 7, 8, 12} B = {2, 7, 9, 10}

C = {5, 9, 10, 12}

(A ∩ B) − (C ∩ A)

41. If , 


B={5,9,10,12} C={1,4,5,7,11}

A'-C'`

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12}

A = {2, 7, 9, 10} and

. F ∈ d

https://dl.doubtnut.com/l/_fsQXnWjDglTW
https://dl.doubtnut.com/l/_K5pWFtdzWOQz
https://dl.doubtnut.com/l/_hVgA5U9dUIUL


42. If , 


B={5,9,10,12} C={1,4,5,7,11}

(B-A)'`

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12}

A = {2, 7, 9, 10} and

. F ∈ d

43. If , 


B={5,9,10,12} C={1,4,5,7,11}

B'bigcapC'`

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12}

A = {2, 7, 9, 10} and

. F ∈ d

https://dl.doubtnut.com/l/_hVgA5U9dUIUL
https://dl.doubtnut.com/l/_Ta4nFXG12Nfk


44. If , 


B={5,9,10,12} C={1,4,5,7,11}

(AbigcupB)'`

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12}

A = {2, 7, 9, 10} and

. F ∈ d

45. If , 


,  and

 Find 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12}

A = {2, 7, 9, 10} B = {5, 9, 10, 12}

C = {1, 4, 5, 7, 11} A' ⋂B'

https://dl.doubtnut.com/l/_ucQbpmnatX1I
https://dl.doubtnut.com/l/_NZHcBl4neDbk
https://dl.doubtnut.com/l/_wNgPjsDAFNo1


46. If X and Y are two sets such that  has

50 elements,X has 28 elements and Y has 32

elements,how many elements does 

have?

Watch Video Solution

X ∪ Y

X ∩ Y

47. There are 200 individuals with a skin

disorder, 120 had been exposed to the chemical

A, 50 to chemical B and 30 to both chemical A

and B, Find the number of individuals exposed

https://dl.doubtnut.com/l/_wNgPjsDAFNo1
https://dl.doubtnut.com/l/_Ce85irWnWJnB


to 

Chemical A but not chemical B.

Watch Video Solution

48. There are 200 individuals with a skin

disorder, 120 had been exposed to the chemical

A, 50 to chemical B and 30 to both chemical A

and B, Find the number of individuals exposed

to chemical B but not chemical A.

Watch Video Solution

https://dl.doubtnut.com/l/_Ce85irWnWJnB
https://dl.doubtnut.com/l/_ShjUkhtBbn3w
https://dl.doubtnut.com/l/_VQ1iAFosoS6A


49. There are 200 individuals with a skin

disorder, 120 had been exposed to the chemical

A, 50 to chemical B and 30 to both chemical A

and B, Find the number of individuals exposed

to 

Chemical A or chemical B.

Watch Video Solution

50. In a survey of 400 students in a school100

were listed as taking apple juice, 150 as taking

orange juice and 75 were listed as taking both

https://dl.doubtnut.com/l/_VQ1iAFosoS6A
https://dl.doubtnut.com/l/_CX8lLx911JxY


apple as well as orange juice. Find how many

students were taking neither apple juice nor

orange juice.

Watch Video Solution

51. In a commifiee, 50 people speak French, 20

speak Spanish and 10 speak both Spanish and

French. How many speaks at least one of these

two languages?

Watch Video Solution

https://dl.doubtnut.com/l/_CX8lLx911JxY
https://dl.doubtnut.com/l/_mLZqAgyEvVz8
https://dl.doubtnut.com/l/_8s6w3hNzqVVg


52. In a group of 65 people, 40 like cricket, 10

like both cricket and tennis, how many like

tennis only and not cricket †  How many like

tennis?

Watch Video Solution

53. Let A and B be two sets such that 

 


, .Find 


Watch Video Solution

n(A) = 20

n(A ∪ B) = 42n(A ∩ B) = 4

n(B)

https://dl.doubtnut.com/l/_8s6w3hNzqVVg
https://dl.doubtnut.com/l/_KM44oC0TqrNK


54. Let A and B be two sets such that 

 


, .Find 


Watch Video Solution

n(A) = 20

n(A ∪ B) = 42n(A ∩ B) = 4

n(B − A)

55. Let A and B be two sets such that 

 


, .Find 


n(A) = 20

n(A ∪ B) = 42n(A ∩ B) = 4

n(A − B)

https://dl.doubtnut.com/l/_KM44oC0TqrNK
https://dl.doubtnut.com/l/_mRRHoX5iQpvd
https://dl.doubtnut.com/l/_kDoNtIFJAoSl


Watch Video Solution

56. A = {x: x ia a natural number less than 8} 

Write in roster form.

Watch Video Solution

57.  ia a natural number less than 8} 


Write a subset of A containing all even

numbers in A.

Watch Video Solution

A = {x : x

https://dl.doubtnut.com/l/_kDoNtIFJAoSl
https://dl.doubtnut.com/l/_C3Z067d3DVmn
https://dl.doubtnut.com/l/_L7BCjliG6o0R


58. A = {x: x ia a natural number less than 8} 

Which of the following could not be the

number of elements of power set of a set? 

Watch Video Solution

[2, 8, 10, 16]

59. Observe the Venn diagram. 

Find  (A ∩ B)'

https://dl.doubtnut.com/l/_L7BCjliG6o0R
https://dl.doubtnut.com/l/_dtnZIQyq15hR
https://dl.doubtnut.com/l/_0NXfgxHyOTGZ


Watch Video Solution

60. Consider the sets A and B given by 

 is a natural number, } 


 is a prime number }


 


Write A,B and C in the roster form.

Watch Video Solution

A = {x : x 2 ≤ x ≤ 6

B = {x : x x ≤ 7

C = {x : x2 − 5x + 6 = 0}

https://dl.doubtnut.com/l/_0NXfgxHyOTGZ
https://dl.doubtnut.com/l/_1eVRCr3fWIS4


61. Consider the sets A and B given by 

 is a natural number, } 


 is a prime number }


 


Verify that 

Watch Video Solution

A = {x : x 2 ≤ x ≤ 6

B = {x : x x ≤ 7

C = {x : x2 − 5x + 6 = 0}

(A⋃B)⋃C = A⋃(B⋃C)

62. Consider the sets A and B given by

 is a prime number } 
A = {x : x < 10

https://dl.doubtnut.com/l/_1eVRCr3fWIS4
https://dl.doubtnut.com/l/_JwmGID6Hv7wV
https://dl.doubtnut.com/l/_7XU7LjSNumeA


 is a natural number which divides

12} 

Write A and B in the roster form.

Watch Video Solution

B = {x : x

63. Consider the sets A and B given by

 is a prime number } 


 is a natural number which divides

12} 

Find  and .

Watch Video Solution

A = {x : x < 10

B = {x : x

A⋃B B − A

https://dl.doubtnut.com/l/_7XU7LjSNumeA
https://dl.doubtnut.com/l/_5T2cb0NaT4FO


64. Consider the sets A and B given by

 is a prime number } 


 is a natural number which divides

12} 

Verify that

Watch Video Solution

A = {x : x < 10

B = {x : x

(A⋃B) − A = B − A

65. If . ,  and 


, then find 


A = {1}B = {{1}, 2}C = {{1}, 3}

U = {{1}, {2}, {3}, 1, 2, 3}

A⋂B

https://dl.doubtnut.com/l/_5T2cb0NaT4FO
https://dl.doubtnut.com/l/_qzE0083xFgYw
https://dl.doubtnut.com/l/_8yiOiXQ0uapT


Watch Video Solution

66. If . ,  and 


, then find 


Watch Video Solution

A = {1}B = {{1}, 2}C = {{1}, 3}

U = {{1}, {2}, {3}, 1, 2, 3}

B⋂C

67. If . ,  and 


, then find 


Watch Video Solution

A = {1}B = {{1}, 2}C = {{1}, 3}

U = {{1}, {2}, {3}, 1, 2, 3}

n((A ∩ B)' ∪ (B ∩ C)' )

https://dl.doubtnut.com/l/_8yiOiXQ0uapT
https://dl.doubtnut.com/l/_A2Y7dHk1Z7hY
https://dl.doubtnut.com/l/_ZYtJqnG1jwa8


68. Given , 


 and  

Write 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

A = {1, 2, 3, 4, 5} B = {3, 4, 5, 6}

A ∪ B

69. Given , 


 and  

Verify whether 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

A = {1, 2, 3, 4, 5} B = {3, 4, 5, 6}

(A ∪ B)' = A' ∩ B'

https://dl.doubtnut.com/l/_ZYtJqnG1jwa8
https://dl.doubtnut.com/l/_7cJqe19veMoi
https://dl.doubtnut.com/l/_NLVu1Kjm6msq


70. Given , 


 and  


Verify whether

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

A = {1, 2, 3, 4, 5} B = {3, 4, 5, 6}

n(A ∪ B) = n(A − B) + n(A ∩ B) + n(B − A)

71. Let  is an integar }

and
  


Write A in the roster form.

Watch Video Solution

A = {x : x < x <
1

2

7

2

B = {2, 3, 4}

https://dl.doubtnut.com/l/_NLVu1Kjm6msq
https://dl.doubtnut.com/l/_ocW6dTYN0NmN
https://dl.doubtnut.com/l/_pOTrBwNeskEE


72. Let  is an integar }

and
  


Find the power set of 

Watch Video Solution

A = {x : x < x <
1

2

7

2

B = {2, 3, 4}

(A ∪ B)

73. Let  is an integer }

and
  


Verify that 

Watch Video Solution

A = {x : x < x <
1

2

7

2

B = {2, 3, 4}

(A − B) ∪ (A ∩ B) = A

https://dl.doubtnut.com/l/_pOTrBwNeskEE
https://dl.doubtnut.com/l/_APtfrEz0lQlh
https://dl.doubtnut.com/l/_iicTtb4IChjD


74. How many elements has  


if ?

Watch Video Solution

P (A)

A = {1, 2, 3}

75. , , 


. Find 

and 

hence show that 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7} A = {1, 4, 6, 7}

B = {1, 2, 3} A' , B' , A' ∩ B' , A ∪ B

A' ∩ B' = (A ∪ B)'

https://dl.doubtnut.com/l/_iicTtb4IChjD
https://dl.doubtnut.com/l/_7xlXM3oB14EF
https://dl.doubtnut.com/l/_inrFzrQKKpkX


76. If A and B are two sets such that 

,then what is ?

Watch Video Solution

A ⊂ B

A ∩ B

77. Let  and 

 


Find  and 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6}

B = {1, 3, 4, 6, 7}

A⋃B A⋂B

https://dl.doubtnut.com/l/_98KTJTwjXWCj
https://dl.doubtnut.com/l/_YVOz6ML9x7Cr


78. Let  and 

 


Find 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6}

B = {1, 3, 4, 6, 7}

A − (A⋂B)

79. If  and  are two sets such that 

,  and ,


Find .

Watch Video Solution

X Y

n(X) = 17n(Y ) = 23 n(X ∪ Y ) = 38

n(X ∩ Y )

https://dl.doubtnut.com/l/_gevrfJWOUf2e
https://dl.doubtnut.com/l/_pfZtME0kMNX0
https://dl.doubtnut.com/l/_5J4uswVUYVLn


80. Let  , 

 and 


Find .

Watch Video Solution

U = (12, 3, 4, 5, 6, 7, 8, 9)

A = (1, 2, 4, 7} B = (1, 3, 5, 7)

A⋃B

81. Let  , 


and 


Find A',B' and hence show that

Watch Video Solution

U = (12, 3, 4, 5, 6, 7, 8, 9)

A = (1, 2, 4, 7} B = (1, 3, 5, 7)

(A⋃B)' = A' ⋂B'

https://dl.doubtnut.com/l/_5J4uswVUYVLn
https://dl.doubtnut.com/l/_FLtOLrXs2JDU
https://dl.doubtnut.com/l/_kKzldNsFThOK


82. Let  , 


and 


The power set  has elements.

Watch Video Solution

U = (1, 2, 3, 4, 5, 6, 7, 8, 9)

A = (1, 2, 4, 7} B = (1, 3, 5, 7)

P (A)

83. If two sets A and B are disjoint, which
none

among the following is true?

A. 

B. 

C. 

A⋃B = A

A⋃B = B

A⋂B = B

https://dl.doubtnut.com/l/_kKzldNsFThOK
https://dl.doubtnut.com/l/_SpYC4hYprzrF


D. 

Answer: D

Watch Video Solution

A⋂B = ∅

84. Find the set of the equation

 in roster form.

Watch Video Solution

x2 + x − 2 = 0

https://dl.doubtnut.com/l/_SpYC4hYprzrF
https://dl.doubtnut.com/l/_1FSmYOhCnuXa


85. In a group of students, 100 students know

Hindi, 50 know English and 33 know both. Each

of the students knows either Hindi or English.

How many students are there in the group?

Watch Video Solution

86. Let  and 

 is a prime number less than 5} and 

 is an integer } 


Write A,B in roster form.

Watch Video Solution

A = {x : x ∈ W , x < 5}

B = {x : x

U = {x : x 0 ≤ x ≤ 6

https://dl.doubtnut.com/l/_EW3fHfwWlC9Z
https://dl.doubtnut.com/l/_V3whOynWVkhp


87. Let  and 

 is a prime number less than 5} and 

 is an integer } 


Find 

Watch Video Solution

A = {x : x ∈ W , x < 5}

B = {x : x

U = {x : x 0 ≤ x ≤ 6

(A − B) ∪ (B − A)

88. Let  and 

 is a prime number less than 5} and 

A = {x : x ∈ W , x < 5}

B = {x : x

https://dl.doubtnut.com/l/_V3whOynWVkhp
https://dl.doubtnut.com/l/_wDM1vR8UhLT0
https://dl.doubtnut.com/l/_AQyoTd4v6LMv


 is an integer } 


Verify 

Watch Video Solution

U = {x : x 0 ≤ x ≤ 6

(A⋃B)' = A' ⋂B'

89. If , 

 and  then: 


Write .

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8}

A = {2, 4, 6, 8} B = {2, 4, 8}

A’, B’

https://dl.doubtnut.com/l/_AQyoTd4v6LMv
https://dl.doubtnut.com/l/_7EurTnE2Cxhf


90. If , 

 and  then: 


For the above sets A and B prove that

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8}

A = {2, 4, 6, 8} B = {2, 4, 8}

(A⋃B)' = A' ⋂B'

91. If , 

 and  then: 


Check whether 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8}

A = {2, 4, 6, 8} B = {2, 4, 8}

(A⋂B)' = A' ⋃B'

https://dl.doubtnut.com/l/_eldnthRqbkiH
https://dl.doubtnut.com/l/_aPt45jP2bEwC


92. What is ?

Watch Video Solution

A ∪ A'

93. If A and B are two sets such that 

 and , 


find 

Watch Video Solution

n(A⋃B) = 17 n(A⋂B) = 5

n(A) + n(B)

https://dl.doubtnut.com/l/_yM6hcp3bPks7
https://dl.doubtnut.com/l/_HqASkxbhmK4a


94. In a group of 100 peoples, 40 people like

cinema, 10 like both drama and cinema. How

many like drama? How many like drama only

not cinema?

Watch Video Solution

95. If A and B are two sets such that , 


 is………….

Watch Video Solution

A ⊂ B

A⋃B

https://dl.doubtnut.com/l/_SpNLVpsyywgl
https://dl.doubtnut.com/l/_DJN9SqBbfgJ6
https://dl.doubtnut.com/l/_ZeHO3JyBtGm9


96. If A and B are two sets such that , 


Draw the venn diagram of 

Watch Video Solution

A ⊂ B

B − A

97. In a committee, 60 people speah English, 30

speak Hindi and 15 speak both English and

Hindi. How many speak atleast one of these

two languages?

Watch Video Solution

https://dl.doubtnut.com/l/_ZeHO3JyBtGm9
https://dl.doubtnut.com/l/_q7O91ckvxLJs


98. Consider the set  and 

 


Find .

Watch Video Solution

A = {2, 3, 5, 7}

B = {1, 2, 3, 4, 6, 12}

A⋂B

99. Consider the set  and 

 


Find  and hence show that 

.

Watch Video Solution

A = {2, 3, 5, 7}

B = {1, 2, 3, 4, 6, 12}

A − B, B − A

(A⋂B)⋃ (A − B)⋃ (B − A) = A⋃B

https://dl.doubtnut.com/l/_WS5Wg9UsWuKF
https://dl.doubtnut.com/l/_Gwc4PF12yk8G


100. Consider the set  and 

 


Write the power set of .

Watch Video Solution

A = {2, 3, 5, 7}

B = {1, 2, 3, 4, 6, 12}

A⋂B

101. If  and 

then 

=?

Watch Video Solution

A = {1, 2, 3, 4} B = {3, 4, 5, 6}

A − B

https://dl.doubtnut.com/l/_17qOQV1WXuY3
https://dl.doubtnut.com/l/_dEyo0lG0uRUi
https://dl.doubtnut.com/l/_fPoD9IVkn4W9


102. In a group of 70 people, 37 like coffee, 52

like tea and each person likes atleast one of the

two drinks. How many people like both coffee

and tea?

Watch Video Solution

103. Let ,  and 

. Find A',B' and hence show that 

.

Watch Video Solution

U = {1, 2, 3, 4, 5, 6} A = {2, 3}

B = {3, 4, 5}

(A⋃B)' = A' ⋂B'

https://dl.doubtnut.com/l/_fPoD9IVkn4W9
https://dl.doubtnut.com/l/_qK02JUnRoxHb
https://dl.doubtnut.com/l/_vOSgsLPImcVe


104. Let ,  and 

 


Find  and .

Watch Video Solution

A = {1, 2, 3, 4, 5}B = {1, 2, 6}

C = {1, 6, 7, 8}

A⋃B B⋂C

105. Let ,  and 

 


Show that

Watch Video Solution

A = {1, 2, 3, 4, 5}B = {1, 2, 6}

C = {1, 6, 7, 8}

A⋃(B⋂C) = (A⋃B)⋂(A⋃C)

https://dl.doubtnut.com/l/_vOSgsLPImcVe
https://dl.doubtnut.com/l/_n3o2K7FEFcqB


106. Let ,  and 

 


Find  and 

Watch Video Solution

A = {1, 2, 3, 4, 5}B = {1, 2, 6}

C = {1, 6, 7, 8}

A − (B⋂C)

(A⋃B) − (B⋂C)

107.  is a prime number } 


Represent A in Roster form.

Watch Video Solution

A : {x : x x ≤ 6

https://dl.doubtnut.com/l/_bLtg4ZVle0VQ
https://dl.doubtnut.com/l/_AlfgkUsaldv7
https://dl.doubtnut.com/l/_VGg3sF8eNoXV


108.  is a prime number } 


Write the power set of A.

Watch Video Solution

A : {x : x x ≤ 6

109. Out of 25 members in ari office 17 like to

take tea, 16 like to take coffee. Assume that

each takes at least one of the Mo drinks. How

many like (a) Both coffee and tea(b) Only tea

and not coffee?

Watch Video Solution

https://dl.doubtnut.com/l/_VGg3sF8eNoXV
https://dl.doubtnut.com/l/_nLxaEge6fmUo
https://dl.doubtnut.com/l/_bS0saSPdreA5


110. If a subset of the set B,then 

=?

Watch Video Solution

A⋂B

111. Represent the set  by venn diagram.

Watch Video Solution

A⋂B

112. In a school, there are 20 teachers who

teach Mathematics or Physics. Of These, 12

https://dl.doubtnut.com/l/_bS0saSPdreA5
https://dl.doubtnut.com/l/_0V7TrUVBFg7P
https://dl.doubtnut.com/l/_g8QNAsOqdtB5


teach Mathematics, 12 teach Physics. How many

teach both the subject?

Watch Video Solution

113. If U is the universal set and A is any set

A. U

B. A

C. emptyset

D. A'

U⋂A

https://dl.doubtnut.com/l/_g8QNAsOqdtB5
https://dl.doubtnut.com/l/_uNCnPd8L9LMP


Answer: B

Watch Video Solution

114. Consider the sets 

, , 

. Find A' and B’ the verify 

Watch Video Solution

U = {a, b, c, d, e, f, g}A = {b, c, d, e}

B = {a, c, g}

(A⋃B)' = A' ⋂B'

https://dl.doubtnut.com/l/_uNCnPd8L9LMP
https://dl.doubtnut.com/l/_gIXSqj4POxtf


115. In a group of 400 people, 250 speaks Hindi,

200 can speak Malayalam. How many people

can speak both Malayalam and Hindi?

Watch Video Solution

https://dl.doubtnut.com/l/_iZjIW1kOSKvt

